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200000000CH, 000 1.5-19GeV/c 0 500000000000000000
Op(K ,KHE 0000000 O0D00000000D0 1200E05000000000
000000000 BeamThrough D00 O00D01300000

0O12:EQSO00000DO0O0DOODO0ODOO.

Title Target Beam momentum (GeV/c) Number of K™ s
1.5 3.17 x 10°
1.6 3.23x 10°
oooooog E,% CH 1.7 3.05 x 10°
1.8 1.10 x 10'°
1.9 1.34 x 10°
1.2,1.35,1.5, 1.8 (K™)
Beam through Empty -

1.1,1.2,1.35,1.5,1.8,2.0 (K*)

IEZBe production Graphite 1.8 8.43 x 10'°

2c(xk~,Kk*) 000000000 K*000000400000000000 (SDC1-4)
0SKSOOODOOODOOOODOOO0O000000SKSOOOO0O0O0O 1.3GeV/e OO
0000 110msr 000000000 O00O0SKSOOO0DOOOO0O000O000000O
Ap/p=3x103FWHM)OOOOODOOOOOO0OO0O0 (KLKY)OOOOODO0OO0O00O
0000000000000000000000
SKSOOOOODOOOO0OO0O000000000000000000 (0 1.11 0"TOF")
000000000000 000000000000000000000000000
00O

00000 pp0 00000 ps 0000000000 (MissingMass)My 000000
0oooooO

My = \/(EB+mA—E5)2—p%—p§+2po5COSH (1.2)

O0D00OEpmO0000000O00OOODOO0ODOOO0ODODOOODOO BS,AO00O

oboooboobobooobuoobuobbobooobebobobUOobbOOobOODO
011200000000 1.8GeV/cOCH, 00D ODODO0O0OO p(K,KHE-ODODOOO

0000000000000 dp(K,KHE- OODODOOOO 54 MeV(FWHM) 0 0O0O0O
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OO0 BNLESSSOOODO CH, OOODOOOODOOODODOOOOO 10MeVOODODOO
2000000000000 0000 1. 300b0O0oOoobOooO (1.5,1.6,1.7,1.8,1.9
GeV/c)UOUOUOOOOO p(KL,KNHE OODODODODODODODODUOODUODODODODOUDOE OOO
obob 1.8GevV/cOOODDOOODOODOODOOOODOODODOOODOODO 20
O000000O0bOO00O0O0DO0obOO0bOobObD 18GeV/cOODODODODOOODODODOODO
goooog

Missing mass p(K', K™) at 1.8 GeV/c

500

400

Counts /0.5 MeV

300

200

100

u_).ll\\|I\\I|\\II‘\II\‘II\\|IL

1.31 1.32 133 134 1.35
Missing Mass (GeV)

01.12:. 000 p(K,KHE- OODOOOOoooooooooood
O00000000000000 “Co0o0o00o 00000000

C 80,' T T T T T T | ]
<z F Present data ; ]
.-% TOE- .v-;-.-T Tijima et al..(1992). v._'
= E i JPBerge etal. (1966). 7
" GO s G.Burgen et.al. (1968). 7
Y E .o : PMDauber et al. (1969_
é SOF-- = . ffj,Eyd?all fl,ﬁ (C-Bpovel ehal)
S F N |
© 40 =
= F ]
\% E ]
30 =
G:“ : : i 1° A
1 1 2 1 4 1 6 1 8 2 2 2 2 4 26 2. 8 3
lab (GeV/c)

01.13: 000 p(K,KH)E O00ODOD0D0OO0D0O00000ooooooo
OO0 ESDODODOOODOODO
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00000000000000000
0(.2)00000peps, 600000000000

6MX 1 PB

- |££ —E¢) + ] 1.3
s My [ Ep (ma — Es) + ps cos (1.3)
(9MX 1 Ps

=— [-Z=(E 0 1.4
e MX[ e (En +ma) + pp cos ] (14)
M i
My _ pppssin6 (1.5)
06 Mx

ooo0obOOoooO0obOOobOOoboooobOoboooogoD (1.3) a5 ooboooo
AMy, = —0pB App + —5}75 Apg + 30 A6 +AEstraggle

=A% + A%+ AL + AESZtmggle (1.7)

(1.6)

oDod
RC(k~, k") PBe00OOODOOps=18[GeV/cl09=5000000000000

oM
X 20.93 (1.8)
opB
M
IMX _ o1 (1.9)
aps
M
9555 = —0.019 [MeV /mrad] (1.10)

00000000000000000000000 1.300000000000000
0000000 140 E050000000E050000 Ag, AEgragere 10000000
000000000000000000000000 B05S0 E7000000000000

0 13: EOS/E70 000000000000 0DOOD0O0OESDODOO
OO00000OO0ODOE/OOODOOO S2SO0000b00b00ooooon

D00000000000000000000000000 5x10740
gono

Ap/p | DDDOO0OO0OOOODODODOD DOOOOOOOOO
EO05 Ix1073@oD) 3x1073(SKSOO0O)
E70 1x1073@0O0) 5x1074(S-25s000)
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0 1.4: 2C(Kk~, k") PBe0 000000000000 0OOENSDETO
O00000000000000 1.3000000000000 MeV/c?
oooo

Conditions | Ap As Ao AEgraggle | AM
EO05 1.67 3.74 0.04 3 5.1
E70 1.67 0.62 0.04 0.9 2

1.23 J-PARCE700O

01400000E050000 As O AEgragere 00 000000000000000
JJPARCE70 0000000 200000000000000000000000000
200 E050000000000

S-2S00000000

E700000000000000000D0000000D Strangeness -2 Spectrometer(S-
2000000 114000000000S-2S00000000020000000
QLU 1000000 (MDHOOODUDDODODODUDODOO KT0400000000
000 (DO 00000000 DODOOOOOAp/p=5x1074FWHM) OO OOO0O
00000000 mOO00oo0O 1.37GeV/c000O0O0O0OOO0OOODODOODOOOO
1.LISO0 1.500SKSO0000000 (E0S) 00000000 ooooookK -ooo
¥ 000000000000000000000 TOFOOO0O0OO00-* 0000000
O00000O0ooooo0ooonD (ACOr=1.0550000000000000000
00000 (WCOr=133)00000
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scat. K*
1.37 GeV/c

beam K- Target

@ 1.8 GeVic

0 1.14:S2S0000000000000000

Acceptance

70E-
60[-

50F

Acceplance [msr]

40
30F
20F

10F-

: 1 l 1 1 I 1 1 1 ' 1 1 1 I A 1 I 1 'l 1
0 1 1.2 1.4 1.6 1.8 2
Momentum [GeV/c]

0 1.15:S2S000000000000000000O

015 20000000000 S-2S0O SKSOOO

S-2S SKS
000 (msr) 55 110
Ap/p (FWHM) | 5x 107 3x1073
oooo QQD D
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O00O0O000O00oO0oo
0 1300000000000000 1.700000000000000AM <2
MeV(FWHM) 00 0 0 0 0 AEgyaggre < 0.8 MeV(FWHM) 0000000000000
00000000000AEsagee 0000000000000000000000
0000000000 (AFD 0000000000 1.160 AFTOOO0OO0O0OAFT
OD003mmOI000000000000000000000000000000000
0D0000000000000000000 KOOOODOOOODOO00O0000000
0000000000000 0000000000000000000000 KOOO
000000000000 00000000000000000000000

= Decay

O 1.16: AFTODOOO

OO0200000000E/00C00D00O000O00DO0OO0O0 140000000000
00000000 AM<2MeVOODOOOOODODODO

1.3 EOS 00000000000

00 1.22000E0500000000000000000000000000000
E050000000000000000000000

1.3.1 00000

O0 K 0D00000K18O0OODooooooooooooboooboobooboo
QEDbQQUIDOOIDOUODLbUUODOODOODbUODbDOD 30b00bO0ODObOOUODOODbDODO
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000000000 MOOOOOOoODOoOoOoooooooooooooon )?in =
(Xiny Yimy in Di\AOO 000000000000 Xour = Kours Your et Loy [

dzin’ dzin dzour’ dZour

ggobobooooboboooobbooan

Kour = My (X o) (1.11)

000060 DOOODODODODONONONONONONODOOOOOOD po0000000 pO00
DD&:Q%QDDDDDDDDD

Lo (N . 5 Nour . )
X = (Z H; (Pi - ﬁ(Xin)wi) + Z; H; (Pi —8i(Xin)wi) ) (1.12)

i=1
Nin+Nout
n= Z H,'

i=1

_[1 iooooo mtoDOOO
"“lo iODO0D0D0OD RrOO0O0O0O0O0

i:00000000
P, :i00000 hit 00O

lw;i0000000000

f(Xin) gi(Xowe): 000000000 00000 hir OO
NNy :0000000000000000

000000 »200000005000000 (X;,6) 0000000 pO00O000
E0OS50000000000000000O0 BFT26]000000000BFTOO0 1
mmOO0000000000000020 xx)0000000000x000 hitOO
xpL-i» 00000000

0 (1.11)000000000000000000 M/ 00000

Kpr-in = M (XL-ou-6) (1.13)

oo0o0oMyODOOOOOOOO0ODO

3
XBL—in = Z Clab,e,d)XBL-our)* VBL-0ut)"(UBL-0ur) (VBL-0ur)? (8)¢  (1.14)
a+b+c+d+e=1
dxBL—our dyBL—our

D |:| |:| DMBL_()ut =~ VBL-out =
dzBL-our dzBL-our
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0000000000000000 Ceapeq 00000 M;0000000OBL-in, BL-out
o0bOo0o0ooKlI8OooooOoooooboooOooboooobooboobooooobooo
oooopEOSOODOOOO (140 sb0ODOO3D000OOODOODOODOODOOD
000000 p0O0O0000OD0D0OO0DO0ODOOODODO0O ORBIT27]OODOOOOO
goooog

1.32 00O00O0O

OO0D00O000O00OD00ORunge-KuttaOOOOOOO 280000000000

a;:qvxé (1.15)
;:00000000(F =
p (p B)
-00o0oog

o5y <Y

04

0000 Runge-Kutta 0000000000 O0SKSOOOO (SDC1,2) 0 hitD OO0 O
0 (SDC3,4)0 hit0ODOO0O0O0O0 (1.12)000000,2 0000005000000
(Xsks—in,p) 000000O00O00SKSOOOOOOODOOOOOODOODOKI8ODO
00000000000000000000000000000000 Runge-Kutta O O
oooooooo
E050000000000000000000000000000000000000
D0o0O0oO000O00oo0ooon

goooog

O0D0000 (cubicspline 1) 0 OO0O00OODOOOOODOOODOODOOODOODOODOOO
ggoboboooobobobooooboboooobobobuoooobobboooobbooog
OO0000000o0oooOo0Oooo00oo0o0bo0oobooooooDOoUooDoOoo fit
gogobboooobbboooobobbdooobob bbb bbb bboog
O00DOO00O00O00bOO0DbO0ob0Oo0O0O RojboboobooObObObOoOobOobDOoboOoooo
ggoboboooobobbooooobobooobobobuoooobobooooboobooog
goobobboooobobboooooob
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RCNP Grand Raiden (0D OO OOO0O0OO)

O0000000D0D0000O (Research Center for Nuclear Physics, RCNP) 0 0O 0O O
godoodooudobotooooobdooooooooooooobogoooon
(dispersion matching) D OO0 OO00O0O 300MeVOODOOOODO 15keVOODOODOODOO
00000000 @Bo)Boooooooooodoog é000oDODoDO xOo 101
000 (<x]0>=0,<ylg>=0000000000000 <xj6>000000000
00o00o000oo00o0o0Do0ooDooooooooooooooooooooon
00000 fiingODODOOOOO0OOOO0ODOOO0ODODOOxO0ODODOO0ODOOOODOOO
o0o0ooooooooooo

O0D00000D0000000 Runge-Kutta OO OO OOODODOODOODOOODOODOO
ooooo

1.3.3 00000

00000 pp0O0O0O0ODO psO0OD0 1.3.1,1320000000000000
O d20obooboobooocooobooooooboooooboooo 220000000
goobobooooooo

Beam Though O O

EOSO0000000D0O00DO0ODO0DO00DO0DO0DO00OD0ODO0ODbOO0ODOoDOoDOO
goooooooooooooooooooCooOooOOoOoUo0oooooooooooo
Oo0o0oOoOoKl18OOOOoooooo SKSOooooooooooooooooooo
0000000 ,KHoOoooooooo K- 000 KTooooooooooooao
OO000O0O00bDO0O0boO0oOoboOoO0dg BeamThroughOO (BTOO)DOOOODOOO
oooooood

EOSOO00000000O00O00O0D0DOO0000000 KI18oOoooooooo
OOooOoO0ooO0o0oDOoOoo0oooboOobDOo SKSOoOoooooooooooboooboooo
OO0O0O000D0000 Beam Through run(BT) OO 0. Beam Through DO OO0 1.2 0
Beam Through OO 0O0O0OCOOOO0O0O0O0000O0O0OOODOODOO

0000000000000 0000000K1.80SKSOOOODOOODOOO dpps =
pp—ps 00000000000 0DOOOODOOOOOOOOODOl1I700D0000O
dpps 10 00000O0DODOOOOCOOOOOOOOOOOOODODODO
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Beam through
= 20r o ——
S o — Negative
é) 15: T \ —— Positive
% 10: . \\ Positive (shifted)
[=9) -
o'o 5: \ \\

12 14 16

— T

8 2

pK18 [GeV/c]

0 1.17: BTrun 000000000 dpgs =pg—ps 00000000
00000000000 000000000 dppsOOOO0DOODOO
Opp0000dpps 0 pp 0000000000000 OODOOODODO
O0000000 KOOOO KtO0Oooooooooboooooo
O00000000D0 dppgs OO0 OOOOODODO

uv oo
000000000000000000000000000000000000000
0000000000000000000000000000000UvVO000000
0000000000

CH, 0000000000 000000 p(KLKHE 000 E 00000000
000000 (0 1.12)0E0S0000000000000000 usks_in = SXSKs=inf]

dzsks-in

VSKS—in = YSKS-n OO QOQ00000000000000O00O00O0000

dzsks-in

p(K,KHE 0O0ODO00DO00OO0OO0OODOOODOO0OO00O0000ODOODOODO0nd
0000 118000000 usks—in Vsks—in 1000000
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04932/4
09742

** /ndf 627916
Prob 03927

m &) ~0.004245 = 8.888¢-05 m RFRRE T el L po ~0.004338 = 6.759¢-05
%.0036:— 0002195 = 0.00149 %.0036 pl ~0.005531 £ 0.002721
T 001262 =0.01128 :l) P2 0.04132 = 0.02842
90038 006185 = 0.08752 @ 0038 0.2597 + 0.7495
(&) F ~0.3662 + 02568 - ]
20.004F ps W‘g -LéZth 1282 | ] L
-0.0042f I 3 -0.004
-0.00a4:- E -0.0042
-0.0046( =
-0.0048 = -0.0044—
-0.005- o -0.0046/~
-0.0052f~ ]
L Y . B e st i i) i, it s el
-04 03 -02 -01 O 01 02 03 -0.08-0.06-0.04-002 0 0.02 0.04 0.06 0.08
SKS—in SKS—in SKS—in SKS—in
dx /dz. dy. /dz

01.18: 00000 1.8GeV/cODOOD p(K~,KY)ODOODDODOOOOO
000000000 p(KLKHE O0DDODDOOODOOOOOODOOO
0000 pCale 00000000 pDEOOOOOOOD K*OOOO
00 (00 usgs—in = SESKS=in [ [ [ yggg_;, = RSKS=in Y1 [

dzskS-in dzsks-in

gooo
OO020000000000000000DO00O00O0O0ODODOOODOODODOO

p%or =apg+b (1.16)

pgor — a,pg +,8p§ +yps +0 (1.17)
5 3

P =B ) Pl i+ ) P sisin (L18)
i=1 i=1

0000abaeBy6pLp) 000000000000000

1. BTOO0000pS —pSer =00 00000 fitting 0000000 Ca—y, b-6,a, B
ooooo

2.000 p(K,KHE™, p(K-,n")EZ” 0000 usgs—in = Vsks—in = 00000
p%or,pgorDDDDD (12) 0000000000000 00000O0O0O0o0o0oag
OE,Z 000 (PDGvalue)0OOODOO fittingOOO OO a,b,y,6 00000
oaoo

3.0 1.1I800000000 p(K,KHE OOUVOOOODOOOOO 118000
0000 fiting 00000000 p,p! 00000

DDDDDDDDDDDDDDDDDDDDp%"r,pgorzDDDDDDDDDDDDDDD
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1.34 0O0O0OOOOOO

goooboooobobboooobobooooobobooooboboooobobooon
ooooooo (d.1e-(1.19)0bdboboobodoboooob0oboooooobooobooon
ggobbooooboboooboboboooboboboooobobboooobbobooog
ggoboboooobbboooobobbooobbbuoooooboo

1.4 0000

000 134000000000000000DO000O00DO0OO0DDO0ODDODOODODOOO
gogoboboooobbbooobobbuooobbbuoooobbbooobbboog
gooood

goobog

l.0000o0obo0obooboboooboobuoobo
2. 0000000000DbO0OO00ObDO0ObDOoOobOOobODOobOobOboOobDOoD

gobbooooobobboboooobbb oo bboooooobLboo
ggooboboooobobboooobobboooobobbuoooobbbooobbbooog
ggoboboogoboboboooooobbooobobobooooboboooobobooog
0000000000000 bOo000O0DO00000O0DOD00D000O0ODO0O0OO00OENS O
gogoboboooobobbooobobbooobbbuoooobbbooubbbUoog
oooopbooooooo300ooo
EOSOO000000DO0DO00ODOO0O0OOODOooSKSOoooooooooooo
goobboooobbbooobobbooobobbuoooobbbooubbbooog
ggoboboooobobboooobbooan
OO0O00O00bO0obD0oO0b0o0obOobO0o0obDO0oOo ESOODOObOODOOODObOOO
O0DE/O0D0D0O0O0D0DOO0OD S2S000000000 QRQDUOOOOO0DOOoOn
OboO0o0OOo0oOo SKSOOoooooobOoboOoboboOooboobOoboobooobooobooo
Ap/p=5x10400000000000000000000000000000000
O00Ap/p~1x107300000000000S2S0000000000000000
000 S5x104000000000000000000000000000000000
ggobobooooboboooobobooobobobooooboboooobbooog
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00o0O0bO0o0o0OdoD E/DOODOODOOODOODOODOO0ODOODOOODOODOODOn
OO0O0EOSODOOOOOO0ODODOOODODODOOUOOODOODOOOODODOObOOn
OOSKS(EOS)ODOS-2S(E70)0 1000000 0o0oboboboooboboobobooo
O0D0O00O0OESODOODOO0ODODOODOOODODDOOD E7oDODODODOOD
goobooooad

OO0o00ooOOooD200000000000000000D0O0DO0ODO0ODODODODO
00000000 b0o0oob0bOb0o0o0ooDb0b0o0U00ob0DbO0 EOS/EIODOOODD
gogoboboooobbbooobobbooobobbuoooobbbooobbboog
ggoboboogoooooo
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1 2 [

HRERERE

goboboooobobboooobbooooboboboooobobboooobboooan
ggobboooobobboooooboboooboobooooboboooobobooog
goobboooobbboooobobbdooobobbuoooobbbooubboboood
gogoboboooobbbooobobbooobbbuoooobbbooubbbooog
gogoboboobooooboobbuoooboobboooboboooobboooooboboa
gogobbboooobbobuooooboboooobo

21 0O00O0O0OO

gooooobooobbbbooooooooooobobboobboooooooog
ggobobboooobobobuoooobboooobboooon

(X,y) ={(Xi, yi)}i=12,...N (2.1

oooox;0/0o0dbgob(@uoobobooo)yoy, bboobobooobobobooo
ooooNDODOOOboooo
ooooboboboooooogbD @ehoboboooboobogooD fF:X—-ydooOo
gogobbooxbbuoooobbuooyooobboooo
gooobbooouobboboogoobobbbooooobboooobbboon
Q2nH)oOyOooobOOoOOOOODOOOODODOODOODODOObOODODOO
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211 0D0OOO0OOO

0o0o0ob0oboooooDbobooobobo0obOooboooobobobOOooD 2000
002000030000000000000O00DO0DODOO21000000000O
0000000000000 0000 X=(,x)0O0ODOD0DO0O0OO200000000
goooboobooboboooooboooobobooo3oobooogoboboobooo
goobboooobbbooobobbooobobbuoooob bbb bbooog
o0000O0bO0o00O0bO0obOob0oOo0bOOobDOobObOOooOOobOoboooOoo [32,33]0

o © o o o © o o
e ® oo 0 e ° 04 o
} o ® o T—— . °
) .
* L VErTE B 2 ee®
1 ® 0 i o o
e o o . ® o o "
e o ® o ° o ® o

Xo Xo

O021:000000000000O0000O0OO00OO0 300000000
gooogd

212 0000

o0o00o0o0ooOO0bO0bOooo0obO0obOOobOOobDO0bobOooboOo 220000000
000000000000 0000000 X=(x)0O0O0ODO 100000000000
fX)=axo+b 0000000000000 0O0O0O0O0O0O0OO

PY L]
e ° >

o TN B
(%0, Y1)

(xo,5 Y1)

Xo Xo

022:.00000000000000000 f(xg)=axp+b0O0O0O0O
goobooooooo
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0000000000MO0 X;=(x,) 0000000000000 ¥ 005 = £(X))
0oo0ooooo

0000000f000000000000000000000000000000
000000000 ix000O0O0000000000000000000000000
0000000000000 000000000000000000000000000
00000000000000000000000000000

213 0000

000000000000000000000000000000 (Loss Function) O
0000000000000000000 fO00000

000000000000000000000000000000000000000
000000000000 000000000000000000000000000
y0OO f000000000000 §=£X)0000

Mean Squared Error

1 N
MSE(y.$)= = > (i =5’ (2.2)
i=1

Mean Squared Error(C O 00 OO0OOMSE) D0 O00D0O0O0OO0ODOODOOOOODOODOOO
O0OOMSEOODDOOOOODOODOODDODOOODOOODOOOODDODOOO0ooDooOOoOooO
Ogo0ooooo 2) 0 NOOOOOOoooooooooboooooooaoo

Mean Absolute Error

N
L] .
MAE(y.9) = > lyi = i (2.3)
i=1

Mean Absolute Error(0 0 0 0 0 0O0OMAE) 000 23)00000MSEOOODOOOO
godooooooooooooooooon

214 K-OOOODOOO

gooboooobobboooobobbooooobobooooboboooobobooon
gogobboooobbbooobobbuooobobbuoooobbbooobbboog
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0000000000000 wainingsett 000000000000 0OO0ODOODOOOO
O000OtestingsettD 00 000000000000 O0OO0OOOOOOODOOOOOO
00o0doDodooooooooooogn

O000000D00K-OO0O0000 (K-Fold cross-validation) 0 0000000 230
K=400O0O0O0OO0OOKOOOOOOOOO

. 0000 KOOOoooooooo 1goboooobooboogoo Kk-10b00o
goboboooobobobooon
2. KOODOOoOOOooOOooOOobOoOooooOoobOOoboobOoboOoboOo KOooooo

3. 0000000000000 KObOooboooooboo 1oboobooo

000000 100b0000b0 1000000000 b00o0bDoobDooDOoo
ggoboboooobobooooboobbooobobobooooboboooobobooog
oooboobooboooobooobooboobDbooboK-OooDboooooo?2,3
ooo0ooobobooobOoboob KOobooobooooboooobobooboo
ooobooobobooobbo Kooboooobboooobbooooboooo
o0 Koboooobboooobobtboooobboooobobbuoooobbuoooo

fold1 train train train test

fold2 train train test train

fold3 train test train train

fold4 test train train train
Q

test test test test

023: KO0D0000D0O0O0O00K=40000000000000
OO0D00000 foldODOOOO

00 K-Ooooodag

00000000 0K-OODOOoOoOooooddfold0dO0O0O0O0ODOOOOOODODOO
0000000000000 0000 K-OOOOOoO (stratified K-Fold cross-validation)
gdodoboodobooboobouoooooboooooooooouoboouoooa
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ogno
0021000000000 0DO0000DO0O0OO0ODOODO0OOO0ODOObDOOODODbDOO
ggoboboooobobooooobooooboboooobboooooo

22 DU0O0OOODODOOOOO
221 00O0O0ODOOO

OO0O0D00O0 (perceptron) DD ODOODOODO0OOO0OOOOOO0OOO0ODOOOO
ooOoDb,1000000000 1000000b0ob0 2402000000 10000
gogoboboooobobooooon

X4 W

W,
X5 — Z
b

024: 0020 (x,xx)00OO 10 zOOOOODODOO

oooop0Ooooo x,x,...x, 0000000000 OOOO0O00

P
u= Z wixi+b 2.4)
i=1

gooobO0oOo0obOOoboUobodoow; b00ob0OpO0OO0DODOOODOODOOOOODn
gogoooood

7= ¢(u) (2.5)
00000000000 O0ODOODODO (activation function) 0000000000 OOO
obooo222000000000 2400000000 24,25 000000000
gooboboooobobooo

222 0OJ00O0O0OOOODOO

0000000000 0o0oboooboooobo 25000000000 o0ooDoooDOooo
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goooooooo
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(a) (M=-(z-)) O inner train 00 00

M-

ol Lo Lo Lo b b e Lo laa
B 2000 4000 6000 8000 10000 12000 14000 16000 18000 20000

mean inner train num

(b) o(Mz-(z-)) U inner train 0 0 0O

0 3.13: ps 0000000 inner train 00O O

gooooon OO inner train [
oo0ooooon (%) =" - (M=-) o(M=-) (Mx-) o(Mx-)
100 3617 18768 -0.05+£0.06 6.7+02 -0.22+0.03 8.08 +£0.07
80 2894 15014 -0.11+£0.06 7.2+02 -0.10+0.03 8.29 +£0.07
60 2170 11260 -0.21+0.06 7.4+02 -0.67+0.04 8.53+0.07
40 1447 7507 -0.05+0.07 82+0.2 -033x+0.04 8.50+0.08
20 724 3753 0.43+0.10 10.0+0.3 -0.02+0.05 9.92+0.10
16 579 3003 0.44 +0.09 109+0.2 -0.47+0.04 10.01 £0.09
12 434 2252 -0.71+£0.09 11.1+03 -0.35+0.04 10.4+0.09
8 289 1501 0.7+0.2 18.7+0.6 0.83+0.07 15.0+0.2
4 145 751 - - -1.21 £0.08 18.9+0.3
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039 ps 000000D0DDOOO Ms-,My-D00OOOODODOOOO

MeV/c*0
Mz-,Ms- 00000 [o] (Mz=-) o(Mz-) (Mx-) o(Msz-)
1 0.05 £ 0.06 7.0+0.2 0.28 = 0.03 7.96 = 0.07
1.5 0.04 = 0.06 7.1+0.2 0.03 £ 0.04 8.67 +£0.08
2 0.10 = 0.06 7.1+0.2 0.27 £0.03 8.27 +£0.07
2.5 -0.18+0.06 7.1+0.2 -0.21+0.04 8.57+0.07
3 -0.05+£0.06 6.7+02 -0.22+0.03 8.08+0.07
3.5 -0.19+£0.06 7.0+£0.2 -0.68+0.04 8.27+0.07
4 -0.17+0.06 69+0.2 -054+0.03 8.12+0.07
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1 -0.20+£0.05 64+0.2 -0.18+0.03 8.11+0.07
3 -0.05+0.06 6.7+0.2 -0.22+0.03 8.08+0.07
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oo (M=-) o(Mz-) (Ms-) o (Ms-)
PB -0.01+£0.05 54+0.1 -0.12+0.03 7.20+0.06
Ps 0.03+0.05 59«02 0.01+0.03 7.06+0.06

cosf | —0.09+0.05 59+02 -024+0.03 7.81+0.07
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OAD

gooooood

0OA1:00352000000000000

sampling rate(%) fold1l fold2 fold3 fold4 mean
100 inner train KK | 3620 3628 3561 3659 3617
Kpi | 18689 18829 18730 18823 | 18767.75
valid KK 393 409 410 391 400.75
KPi | 2005 2123 2013 2041 2045.5
80 inner train KK | 2896 2902 2849 2927 2893.5
Kpi | 14951 15063 14983 15058 | 15013.75
valid KK 314 327 328 313 320.5
KPi | 1604 1698 1610 1632 1636
60 inner train KK | 2172 2177 2137 2195 2170.25
Kpi | 11213 11297 11237 11294 | 11260.25
valid KK 236 245 246 235 240.5
KPi | 1202 1274 1207 1224 1226.75
40 inner train KK | 1448 1451 1424 1463 1446.5
Kpi | 7475 7531 7492 7529 7506.75
valid KK 157 163 164 156 160
KPi 802 849 805 816 818
20 inner train KK 724 726 712 732 723.5
Kpi | 3737 3765 3746 3764 3753
valid KK 79 82 82 78 80.25
KPi 400 424 402 408 408.5
16 inner train KK 579 580 570 585 578.5
Kpi | 2990 3013 2996 3012 3002.75
valid KK 63 65 65 63 64
KPi 320 340 322 326 327
12 inner train KK 434 435 427 439 433.75
Kpi | 2243 2259 2247 2258 2251.75
valid KK 47 49 49 47 48
KPi 240 254 241 244 244.75
8 inner train KK 289 290 285 293 289.25
Kpi | 1495 1506 1498 1505 1501
valid KK 31 33 33 31 32
KPi 160 169 160 163 163
4 inner train KK 145 145 142 146 144.5
Kpi 747 753 749 753 750.5
valid KK 16 16 16 16 16
KPi 79 85 80 81 81.25
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0 A2:00353000000000000

MM cut sigma foldl  fold2  fold3  fold4 mean

1 inner train KK | 2279 2329 2277 2330 | 2303.75
Kpi | 11615 11674 11651 11654 | 11648.5
valid KK | 267 242 251 249 252.25

KPi | 1233 1322 1250 1303 1277

1.5 inner train KK | 2905 2913 2866 2956 2910
Kpi | 14769 14901 14799 14919 14847
valid KK | 326 321 323 323 323.25

KPi | 1587 1671 1609 1637 1626

2 inner train KK | 3241 3248 3199 3302 3247.5
Kpi | 16622 16768 16670 16818 | 16719.5
valid KK | 354 369 372 357 363
KPi | 1777 1883 1814 1835 1827.25
2.5 inner train KK | 3470 3485 3412 3520 | 3471.75

Kpi | 17775 17921 17839 17937 17868
valid KK 381 391 398 381 387.75
KPi | 1918 2022 1929 1961 1957.5

3 inner train KK | 3620 3628 3561 3659 3617
Kpi | 18689 18829 18730 18823 | 18767.75
valid KK | 393 409 410 391 400.75
KPi | 2005 2123 2013 2041 2045.5
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4 inner train KK | 3852 3854 3773 3882 | 3840.25
Kpi | 20006 20129 20096 20146 | 20094.25

valid KK | 410 426 437 409 420.5

KPi | 2161 2273 2173 2191 2199.5
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